## **BID TABULATIONS**

## Contract No:DH00246

County:Randolph

Replacement of Bridge #125 over Little Polecat Creek and #122 Over Bull Run Creek.

Bid Opening Date: 6/13/2017 at 2:00 PM

					TRUCTION INC				
ITEM NO	ITEM	QUANTITY	UNITS	DANE CONS UNIT PRICE	TRUCTION, INC. AMOUNT BID	SMITH-I UNIT PRICE	ROWE, LLC AMOUNT BID		2 SONS CO., INC. AMOUNT BID
	Mobilization	1	LS	\$69,740.00	\$69,740.00	\$71,000.00			\$70,000.00
2	Bridge Approach Fill - Sub-Regional Tier, Sta. 15+40.00 -L-	1	LS	\$10,500.00	\$10,500.00	\$12,000.00	\$12,000.00	\$9,000.00	\$9,000.00
3	Bridge Approach Fill - Sub-Regional Tier, Sta. 16+01.00 -L-	1	LS	\$10,500.00	\$10,500.00	\$10,800.00	\$10,800.00	\$9,000.00	\$9,000.00
4	Grading	1	LS	\$135,500.00	\$135,500.00	\$212,752.50	\$212,752.50	\$208,000.00	\$208,000.00
5	Supplementary Clearing & Grubbing	2	Acre	\$200.00	\$400.00	\$1.00	\$2.00	\$1.00	\$2.00
6	Undercut Excavation	400	CY	\$15.00	\$6,000.00	\$11.20	\$4,480.00	\$11.20	\$4,480.00
7	Select Granular Material	200	CY	\$30.00	\$6,000.00	\$8.50	\$1,700.00	\$8.50	\$1,700.00
8	Geotextile for Soil Stabilization	400	SY	\$3.00	\$1,200.00	\$1.50	\$600.00	\$1.50	\$600.00
9	Foundation Conditioning Material, Minor Structures	30	Ton	\$30.00	\$900.00	\$17.00	\$510.00	\$17.00	\$510.00
10	Foundation Conditioning Geotextile	70	SY	\$3.00	\$210.00	\$2.40	\$168.00	\$2.40	\$168.00
11	15'' Drainage Pipe	88	LF	\$44.00	\$3,872.00	\$38.00	\$3,344.00	\$38.00	\$3,344.00
12	18'' Drainage Pipe	24	LF	\$48.00	\$1,152.00	\$45.00	\$1,080.00	\$45.00	\$1,080.00
13	15'' Drainge Pipe Elbows	2	Ea	\$800.00	\$1,600.00	\$125.00	\$250.00	\$125.00	\$250.00
14	15" RC Pipe Culverts, Class III	4	LF	\$80.00	\$320.00	\$65.00	\$260.00	\$65.00	\$260.00
15	15" CS Pipe Culverts, 0.064" Thick	32	LF	\$48.00	\$1,536.00	\$38.00	\$1,216.00	\$38.00	\$1,216.00
16	Pipe Removal	88	LF	\$12.00	\$1,056.00	\$10.00	\$880.00	\$10.00	\$880.00
17	Shallow Undercut	100	CY	\$25.00	\$2,500.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00
18	Class IV Subgrade Stabilization	100	Ton	\$32.00	\$3,200.00	\$26.00	\$2,600.00	\$26.00	\$2,600.00
19	Incidental Stone Base	80	Ton	\$27.00	\$2,160.00	\$26.00	\$2,080.00	\$26.00	\$2,080.00
20	Incidental Milling	690	SY	\$10.00	\$6,900.00	\$4.40	\$3,036.00	\$4.40	\$3,036.00
21	Asphalt Concrete Base Course, Type B25.0B	525	Ton	\$75.00	\$39,375.00	\$75.00	\$39,375.00	\$89.25	\$46,856.25

				DANE CONS	TRUCTION, INC.	SMITH-I	ROWE, LLC	R.E. BURNS &	SONS CO., INC.
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
22	Asphalt Concrete Intermediate Course, Type I19.0B	300	Ton	\$75.00	\$22,500.00	\$75.00	\$22,500.00	\$90.00	\$27,000.00
23	Asphalt Concrete Surface Course, Type SF9.5A	450	Ton	\$80.00	\$36,000.00	\$80.00	\$36,000.00	\$88.00	\$39,600.00
24	Asphalt Binder for Plant Mix	75	Ton	\$400.00	\$30,000.00	\$400.00	\$30,000.00	\$460.00	\$34,500.00
25	Right of Way Markers	19	Ea	\$215.00	\$4,085.00	\$200.00	\$3,800.00	\$200.00	\$3,800.00
26	Masonry Drainage Structure	3	Ea	\$1,900.00	\$5,700.00	\$1,600.00	\$4,800.00	\$1,600.00	\$4,800.00
27	Frame with Two Grates, Std 840.29	3	Ea	\$850.00	\$2,550.00	\$375.00	\$1,125.00	\$375.00	\$1,125.00
28	Shoulder Berm Gutter	35.0	LF	\$50.00	\$1,750.00	\$85.00	\$2,975.00	\$70.00	\$2,450.00
29	Steel Beam Guardrail	275	LF	\$16.00	\$4,400.00	\$16.00	\$4,400.00	\$16.00	\$4,400.00
30	Steel Beam Guardrail - Shop Curved	18.75	LF	\$18.50	\$346.88	\$16.00	\$300.00	\$16.00	\$300.00
31	Additional Guardrail Posts	10	Ea	\$11.00	\$110.00	\$1.00	\$10.00	\$10.00	\$100.00
32	Guardrail Anchor Units, Type 350 (TL-2)	7	Ea	\$1,950.00	\$13,650.00	\$1,700.00	\$11,900.00	\$1,700.00	\$11,900.00
33	Guardrail Anchor Units, AT-1	1	Ea	\$550.00	\$550.00	\$450.00	\$450.00	\$450.00	\$450.00
34	Guardrail Anchor Units, Type III	8	Ea	\$1,550.00	\$12,400.00	\$1,675.00	\$13,400.00	\$1,675.00	\$13,400.00
35	Rip Rap, Class I	240	Ton	\$48.00	\$11,520.00	\$35.00	\$8,400.00	\$35.00	\$8,400.00
36	Rip Rap, Class II	80	Ton	\$52.00	\$4,160.00	\$38.00	\$3,040.00	\$38.00	\$3,040.00
37	Rip Rap, Class B	85	Ton	\$36.00	\$3,060.00	\$35.00	\$2,975.00	\$35.00	\$2,975.00
38	Geotextile for Drainage	1,305	SY	\$3.00	\$3,915.00	\$2.00	\$2,610.00	\$2.00	\$2,610.00
39	Temporary Traffic Control	1.00	LS	\$7,300.00	\$7,300.00	\$10,200.00	\$10,200.00	\$7,300.00	\$7,300.00
40	ThermoPlastic Pavement Marking Lines (4", 90mils)	2,200	LF	\$1.40	\$3,080.00	\$1.87	\$4,114.00	\$2.60	\$5,720.00
41	ThermoPlastic Pavement Marking Lines (4", 120mils)	2,200	LF	\$1.50	\$3,300.00	\$1.97	\$4,334.00	\$2.65	\$5,830.00
42	Permanent Raised Pavement Markers	25.0	Ea	\$8.00	\$200.00	\$9.00	\$225.00	\$20.00	\$500.00
43	Temporary Silt Fence	1,875	LF	\$3.00	\$5,625.00	\$1.00	\$1,875.00	\$1.00	\$1,875.00
44	Stone for Erosion Control, Class A	130.00	Ton	\$30.00	\$3,900.00	\$1.00	\$130.00	\$1.00	\$130.00
45	Stone for Erosion Control, Class B	530.00	Ton	\$34.00	\$18,020.00	\$1.00	\$530.00	\$1.00	\$530.00
46	Sediment Control Stone	260	Ton	\$32.00	\$8,320.00	\$1.00	\$260.00	\$1.00	\$260.00
47	Temporary Mulching	2.00	Acre	\$1,800.00	\$3,600.00	\$750.00	\$1,500.00	\$750.00	\$1,500.00
48	Seed for Temporary Seeding	200	LB	\$1.50	\$300.00	\$2.00	\$400.00	\$2.00	\$400.00
49	Fertilizer for Temporary Seeding	1	Ton	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00	\$1,600.00	\$1,600.00

				DANE CONS	TRUCTION, INC.	SMITH-I	ROWE, LLC	R.E. BURNS &	z SONS CO., INC.
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
50	Temporary Slope Drains	400	LF	\$12.00	\$4,800.00	\$1.00	\$400.00	\$1.00	\$400.00
51	Safety Fence	400.00	LF	\$2.00	\$800.00	\$1.50	\$600.00	\$1.50	\$600.00
52	Silt Excavation	410	СҮ	\$13.00	\$5,330.00	\$1.00	\$410.00	\$2.00	\$820.00
53	Matting for Erosion Control	6200.0	SY	\$2.00	\$12,400.00	\$1.00	\$6,200.00	\$1.00	\$6,200.00
54	Coir Fiber Mat	200.0	SY	\$8.00	\$1,600.00	\$4.50	\$900.00	\$4.50	\$900.00
55	1/4" Hardware Cloth	250.0	LF	\$3.00	\$750.00	\$3.50	\$875.00	\$3.50	\$875.00
56	Special Stilling Basins	4.0	Ea	\$475.00	\$1,900.00	\$350.00	\$1,400.00	\$263.31	\$1,053.24
57	Coir Fiber Wattle Barrier	50	LF	\$20.00	\$1,000.00	\$18.00	\$900.00	\$8.00	\$400.00
58	Polycrylamide (PAM)	75	LB	\$12.00	\$900.00	\$1.00	\$75.00	\$7.70	\$577.50
59	Seeding & Mulching	3	Acre	\$2,000.00	\$6,000.00	\$1,400.00	\$4,200.00	\$1,000.00	\$3,000.00
60	Mowing	2	Acre	\$300.00	\$450.00	\$75.00	\$112.50	\$10.00	\$15.00
61	Seed for Repair Seeding	100	LB	\$1.50	\$150.00	\$2.00	\$200.00	\$2.00	\$200.00
62	Fertilizer for Repair Seeding	1	Ton	\$1,500.00	\$750.00	\$1,200.00	\$600.00	\$1,200.00	\$600.00
63	Seed for Supplemental Seeding	100.00	LB	\$1.50	\$150.00	\$2.00	\$200.00	\$2.00	\$200.00
64	Fertilizer Topdressing	2	Ton	\$1,500.00	\$2,625.00	\$600.00	\$1,050.00	\$600.00	\$1,050.00
65	Specialized Hand Mowing	20	Mhr	\$65.00	\$1,300.00	\$18.00	\$360.00	\$10.00	\$200.00
66	Response for Erosion Control	26.0	Ea	\$75.00	\$1,950.00	\$1.00	\$26.00	\$1.00	\$26.00
67	Reforestation	0	Acre	\$1,500.00	\$150.00	\$555.00	\$55.50	\$555.00	\$55.50
68	Generic Erosion Control Item, Concrete Washout Structure	4.00	Ea	\$1,500.00	\$6,000.00	\$435.00	\$1,740.00	\$1,000.00	\$4,000.00
69	Removal of Existing Structure atStation 15+40.00 -L-	1.00	LS	\$31,820.00	\$31,820.00	\$58,800.00	\$58,800.00	\$22,000.00	\$22,000.00
70	Removal of Existing Structure atStation 16+01.00 -L-	1	LS	\$45,000.00	\$45,000.00	\$60,300.00	\$60,300.00	\$25,625.00	\$25,625.00
71	Pile Excavation In Soil	40.00	LF	\$500.00	\$20,000.00	\$142.35	\$5,694.00	\$350.00	\$14,000.00
72	Pile Excavation Not in Soil	25	LF	\$500.00	\$12,500.00	\$320.91	\$8,022.75	\$350.00	\$8,750.00
73	3'-0'' Dia. Drilled Piers In Soil	57	LF	\$1,000.00	\$56,500.00	\$1,523.01	\$86,050.07	\$710.00	\$40,115.00
74	3'-0'' Dia. Drilled Piers Not In Soil	16	LF	\$1,000.00	\$16,000.00	\$1,523.01	\$24,368.16	\$710.00	\$11,360.00
75	Permanent Steel Casing for 3'-0" Dia. Drilled Piers	28.50	LF	\$225.00	\$6,412.50	\$218.45	\$6,225.83	\$10.00	\$285.00
76	PDA Testing	2	Ea	\$3,000.00	\$6,000.00	\$1,500.00	\$3,000.00	\$2,500.00	\$5,000.00
77	CSL Testing	1.0	Ea	\$2,200.00	\$2,200.00	\$4,100.00	\$4,100.00	\$2,450.00	\$2,450.00

					TRUCTION, INC.		ROWE, LLC		SONS CO., INC.
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
	Unclassified Structure Excavation at Station 15+40.00 -L-	1.0	LS	\$2,500.00	\$2,500.00	\$4,200.00	\$4,200.00	\$10,000.00	\$10,000.00
	Unclassified Structure Excavation at Station 16+01.00 -L-	1.0	LS	\$2,500.00	\$2,500.00	\$4,200.00	\$4,200.00	\$10,000.00	\$10,000.00
80	Class A Concrete (Bridge)	103.0	CY	\$1,200.00	\$123,600.00	\$786.88	\$81,048.64	\$1,000.00	\$103,000.00
	Bridge Approach Slabs, Station 15+40.00 -L-	1.0	LS	\$10,035.00	\$10,035.00	\$19,750.00	\$19,750.00	\$18,000.00	\$18,000.00
82	Bridge Approach Slabs, Station 16+01.00 -L-	1	LS	\$10,650.00	\$10,650.00	\$20,750.00	\$20,750.00	\$18,000.00	\$18,000.00
83	Reinforcing Steel (Bridge)	19989	LB	\$1.00	\$19,989.00	\$1.21	\$24,186.69	\$1.25	\$24,986.25
84	Spiral Column Reinforcing Steel (Bridge)	1477	LB	\$1.75	\$2,584.75	\$2.81	\$4,150.37	\$6.50	\$9,600.50
85	Pile Driving Equipment Setup forHP 12 x 53 Steel Piles	15.00	Ea	\$700.00	\$10,500.00	\$446.46	\$6,696.90	\$1,370.00	\$20,550.00
86	HP 12 x 53 Steel Piles	270	LF	\$35.00	\$9,450.00	\$38.06	\$10,276.20	\$25.00	\$6,750.00
87	Steel Pile Points	15	Ea	\$225.00	\$3,375.00	\$205.00	\$3,075.00	\$200.00	\$3,000.00
88	Vertical Concrete Barrier	360.50	LF	\$85.00	\$30,642.50	\$115.40	\$41,601.70	\$165.00	\$59,482.50
89	Rip Rap Class II (2'-0'' Thick)	565	Ton	\$50.00	\$28,250.00	\$38.00	\$21,470.00	\$38.00	\$21,470.00
90	Geotextile for Drainage	627.0	SY	\$3.00	\$1,881.00	\$2.00	\$1,254.00	\$2.00	\$1,254.00
91	Elastomeric Bearings	1.0	LS	\$7,500.00	\$7,500.00	\$5,700.00	\$5,700.00	\$8,155.00	\$8,155.00
92	3'-0'' x 2'-9'' Prestressed Concrete Box Beams	800.0	LF	\$260.00	\$208,000.00	\$247.02	\$197,616.00	\$275.00	\$220,000.00
93	3'-0" x 2'-0" Prestressed Concrete Cored Slabs	1000.0	LF	\$160.00	\$160,000.00	\$153.29	\$153,290.00	\$188.00	\$188,000.00
	Generic Structure Item, Asbestos Assessment at Station 15+40.00 -L-	1.0	LS	\$765.50	\$765.50	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
	Generic Structure Item, Asbestos Assessment at Station 16+01.00 -L-	1	LS	\$753.10	\$753.10	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
					\$1,394,876.23		\$1,422,116.80		\$1,428,562.74

Bidder No. 1: DANE CONSTRUCTION, INC. Bidder No. 2: SMITH-ROWE, LLC Bidder No. 3: R.E. BURNS & SONS CO., INC. Bidder No. 4: APPLE TUCK & ASSOCIATES, INC. Bidder No. 5: EASTERN STRUCTURES LLC

Bidder No. 6: MOUNTAIN CREEK CONTRACTORS INC

## **BID TABULATIONS**

Contract No:DH00246

County:Randolph

Replacement of Bridge #125 over Little Polecat Creek and #122 Over Bull Run Creek.

Bid Opening Date: 6/13/2017 at 2:00 PM

				APPLE TUCK & ASSOCIATES,				MOUNTAIN CREEK	
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	NC. AMOUNT BID	EASTERN ST UNIT PRICE	RUCTURES LLC AMOUNT BID	CONTRA UNIT PRICE	AMOUNT BID
	Mobilization	1	LS	\$72,500.00	\$72,500.00	\$73,000.00	\$73,000.00	\$72,500.00	\$72,500.00
2	Bridge Approach Fill - Sub-Regional Tier, Sta. 15+40.00 -L-	1	LS	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00	\$16,000.00	\$16,000.00
3	Bridge Approach Fill - Sub-Regional Tier, Sta. 16+01.00 -L-	1	LS	\$7,800.00	\$7,800.00	\$16,000.00	\$16,000.00	\$10,000.00	\$10,000.00
4	Grading	1	LS	\$233,000.00	\$233,000.00	\$125,000.00	\$125,000.00	\$225,800.00	\$225,800.00
5	Supplementary Clearing & Grubbing	2	Acre	\$1.00	\$2.00	\$100.00	\$200.00	\$800.00	\$1,600.00
6	Undercut Excavation	400	CY	\$11.20	\$4,480.00	\$19.00	\$7,600.00	\$15.00	\$6,000.00
7	Select Granular Material	200	СҮ	\$85.00	\$17,000.00	\$20.00	\$4,000.00	\$41.00	\$8,200.00
8	Geotextile for Soil Stabilization	400	SY	\$1.50	\$600.00	\$2.00	\$800.00	\$2.00	\$800.00
9	Foundation Conditioning Material, Minor Structures	30	Ton	\$17.00	\$510.00	\$25.00	\$750.00	\$40.00	\$1,200.00
10	Foundation Conditioning Geotextile	70	SY	\$2.40	\$168.00	\$2.00	\$140.00	\$3.00	\$210.00
11	15" Drainage Pipe	88	LF	\$38.00	\$3,344.00	\$45.00	\$3,960.00	\$65.00	\$5,720.00
12	18'' Drainage Pipe	24	LF	\$45.00	\$1,080.00	\$50.00	\$1,200.00	\$68.00	\$1,632.00
13	15" Drainge Pipe Elbows	2	Ea	\$125.00	\$250.00	\$250.00	\$500.00	\$200.00	\$400.00
14	15" RC Pipe Culverts, Class III	4	LF	\$65.00	\$260.00	\$45.00	\$180.00	\$175.00	\$700.00
15	15" CS Pipe Culverts, 0.064" Thick	32	LF	\$38.00	\$1,216.00	\$40.00	\$1,280.00	\$65.00	\$2,080.00
16	Pipe Removal	88	LF	\$10.00	\$880.00	\$10.00	\$880.00	\$12.00	\$1,056.00
17	Shallow Undercut	100	CY	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$15.00	\$1,500.00
18	Class IV Subgrade Stabilization	100	Ton	\$26.00	\$2,600.00	\$30.00	\$3,000.00	\$36.00	\$3,600.00
19	Incidental Stone Base	80	Ton	\$26.00	\$2,080.00	\$30.00	\$2,400.00	\$36.00	\$2,880.00
20	Incidental Milling	690	SY	\$4.40	\$3,036.00	\$20.00	\$13,800.00	\$10.00	\$6,900.00
21	Asphalt Concrete Base Course, Type B25.0B	525	Ton	\$80.00	\$42,000.00	\$99.22	\$52,090.50	\$75.00	\$39,375.00

					& ASSOCIATES, NC.	EASTERN ST	RUCTURES LLC		AIN CREEK CTORS INC
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
22	Asphalt Concrete Intermediate Course, Type I19.0B	300	Ton	\$85.00	\$25,500.00	\$104.22	\$31,266.00	\$75.00	\$22,500.00
23	Asphalt Concrete Surface Course, Type SF9.5A	450	Ton	\$87.00	\$39,150.00	\$106.22	\$47,799.00	\$80.00	\$36,000.00
24	Asphalt Binder for Plant Mix	75	Ton	\$520.00	\$39,000.00	\$530.00	\$39,750.00	\$400.00	\$30,000.00
25	Right of Way Markers	19	Ea	\$300.00	\$5,700.00	\$170.00	\$3,230.00	\$475.00	\$9,025.00
26	Masonry Drainage Structure	3	Ea	\$1,600.00	\$4,800.00	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00
27	Frame with Two Grates, Std 840.29	3	Ea	\$375.00	\$1,125.00	\$450.00	\$1,350.00	\$455.00	\$1,365.00
28	Shoulder Berm Gutter	35.0	LF	\$100.00	\$3,500.00	\$45.00	\$1,575.00	\$75.00	\$2,625.00
29	Steel Beam Guardrail	275	LF	\$16.00	\$4,400.00	\$16.00	\$4,400.00	\$16.00	\$4,400.00
30	Steel Beam Guardrail - Shop Curved	18.75	LF	\$16.00	\$300.00	\$16.00	\$300.00	\$16.00	\$300.00
31	Additional Guardrail Posts	10	Ea	\$25.00	\$250.00	\$25.00	\$250.00	\$25.00	\$250.00
32	Guardrail Anchor Units, Type 350 (TL-2)	7	Ea	\$1,700.00	\$11,900.00	\$1,700.00	\$11,900.00	\$1,700.00	\$11,900.00
33	Guardrail Anchor Units, AT-1	1	Ea	\$450.00	\$450.00	\$450.00	\$450.00	\$450.00	\$450.00
34	Guardrail Anchor Units, Type III	8	Ea	\$1,675.00	\$13,400.00	\$1,675.00	\$13,400.00	\$1,675.00	\$13,400.00
35	Rip Rap, Class I	240	Ton	\$35.00	\$8,400.00	\$45.00	\$10,800.00	\$52.00	\$12,480.00
36	Rip Rap, Class II	80	Ton	\$38.00	\$3,040.00	\$50.00	\$4,000.00	\$53.00	\$4,240.00
37	Rip Rap, Class B	85	Ton	\$35.00	\$2,975.00	\$40.00	\$3,400.00	\$46.00	\$3,910.00
38	Geotextile for Drainage	1,305	SY	\$2.00	\$2,610.00	\$2.00	\$2,610.00	\$3.00	\$3,915.00
39	Temporary Traffic Control	1.00	LS	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$20,000.00	\$20,000.00
40	ThermoPlastic Pavement Marking Lines (4", 90mils)	2,200	LF	\$2.00	\$4,400.00	\$3.00	\$6,600.00	\$1.00	\$2,200.00
41	ThermoPlastic Pavement Marking Lines (4", 120mils)	2,200	LF	\$2.05	\$4,510.00	\$3.00	\$6,600.00	\$1.20	\$2,640.00
42	Permanent Raised Pavement Markers	25.0	Ea	\$10.00	\$250.00	\$20.00	\$500.00	\$25.00	\$625.00
43	Temporary Silt Fence	1,875	LF	\$1.00	\$1,875.00	\$3.00	\$5,625.00	\$2.10	\$3,937.50
44	Stone for Erosion Control, Class A	130.00	Ton	\$1.00	\$130.00	\$40.00	\$5,200.00	\$46.00	\$5,980.00
45	Stone for Erosion Control, Class B	530.00	Ton	\$1.00	\$530.00	\$10.00	\$5,300.00	\$46.00	\$24,380.00
46	Sediment Control Stone	260	Ton	\$1.00	\$260.00	\$10.00	\$2,600.00	\$40.00	\$10,400.00
47	Temporary Mulching	2.00	Acre	\$750.00	\$1,500.00	\$750.00	\$1,500.00	\$600.00	\$1,200.00
48	Seed for Temporary Seeding	200	LB	\$2.00	\$400.00	\$3.00	\$600.00	\$3.00	\$600.00
49	Fertilizer for Temporary Seeding	1	Ton	\$1,600.00	\$1,600.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00

					& ASSOCIATES, INC.	ATES, EASTERN STRUCTURES LLC		MOUNTAIN CREEK CONTRACTORS INC	
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID		AMOUNT BID
50	Temporary Slope Drains	400	LF	\$1.00	\$400.00	\$5.00	\$2,000.00	\$8.00	\$3,200.00
51	Safety Fence	400.00	LF	\$1.50	\$600.00	\$3.00	\$1,200.00	\$1.86	\$744.00
52	Silt Excavation	410	CY	\$2.00	\$820.00	\$6.00	\$2,460.00	\$10.50	\$4,305.00
53	Matting for Erosion Control	6200.0	SY	\$1.00	\$6,200.00	\$0.10	\$620.00	\$1.25	\$7,750.00
54	Coir Fiber Mat	200.0	SY	\$4.50	\$900.00	\$6.00	\$1,200.00	\$3.85	\$770.00
55	1/4'' Hardware Cloth	250.0	LF	\$3.50	\$875.00	\$5.00	\$1,250.00	\$4.05	\$1,012.50
56	Special Stilling Basins	4.0	Ea	\$500.00	\$2,000.00	\$200.00	\$800.00	\$400.00	\$1,600.00
57	Coir Fiber Wattle Barrier	50	LF	\$8.00	\$400.00	\$25.00	\$1,250.00	\$21.20	\$1,060.00
58	Polycrylamide (PAM)	75	LB	\$7.70	\$577.50	\$7.00	\$525.00	\$6.00	\$450.00
59	Seeding & Mulching	3	Acre	\$1,400.00	\$4,200.00	\$2,600.00	\$7,800.00	\$2,625.00	\$7,875.00
60	Mowing	2	Acre	\$75.00	\$112.50	\$100.00	\$150.00	\$100.00	\$150.00
61	Seed for Repair Seeding	100	LB	\$2.00	\$200.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00
62	Fertilizer for Repair Seeding	1	Ton	\$1,200.00	\$600.00	\$1,200.00	\$600.00	\$1,200.00	\$600.00
63	Seed for Supplemental Seeding	100.00	LB	\$2.00	\$200.00	\$5.00	\$500.00	\$4.05	\$405.00
64	Fertilizer Topdressing	2	Ton	\$600.00	\$1,050.00	\$725.00	\$1,268.75	\$725.00	\$1,268.75
65	Specialized Hand Mowing	20	Mhr	\$18.00	\$360.00	\$80.00	\$1,600.00	\$75.00	\$1,500.00
66	Response for Erosion Control	26.0	Ea	\$1.00	\$26.00	\$1.00	\$26.00	\$500.00	\$13,000.00
67	Reforestation	0	Acre	\$555.00	\$55.50	\$8,000.00	\$800.00	\$5,000.00	\$500.00
68	Generic Erosion Control Item, Concrete Washout Structure	4.00	Ea	\$435.00	\$1,740.00	\$750.00	\$3,000.00	\$900.00	\$3,600.00
69	Removal of Existing Structure atStation 15+40.00 -L-	1.00	LS	\$30,000.00	\$30,000.00	\$97,000.00	\$97,000.00	\$20,000.00	\$20,000.00
70	Removal of Existing Structure atStation 16+01.00 -L-	1	LS	\$30,000.00	\$30,000.00	\$58,800.00	\$58,800.00	\$30,000.00	\$30,000.00
71	Pile Excavation In Soil	40.00	LF	\$550.00	\$22,000.00	\$50.00	\$2,000.00	\$400.00	\$16,000.00
72	Pile Excavation Not in Soil	25	LF	\$550.00	\$13,750.00	\$200.00	\$5,000.00	\$400.00	\$10,000.00
73	3'-0'' Dia. Drilled Piers In Soil	57	LF	\$1,000.00	\$56,500.00	\$1,275.00	\$72,037.50	\$975.00	\$55,087.50
74	3'-0'' Dia. Drilled Piers Not In Soil	16	LF	\$1,000.00	\$16,000.00	\$1,275.00	\$20,400.00	\$975.00	\$15,600.00
75	Permanent Steel Casing for 3'-0" Dia. Drilled Piers	28.50	LF	\$20.00	\$570.00	\$200.00	\$5,700.00	\$10.00	\$285.00
76	PDA Testing	2	Ea	\$2,400.00	\$4,800.00	\$3,000.00	\$6,000.00	\$2,750.00	\$5,500.00
77	CSL Testing	1.0	Ea	\$2,450.00	\$2,450.00	\$2,500.00	\$2,500.00	\$2,450.00	\$2,450.00

					& ASSOCIATES,	EASTERN STRUCTURES LLC		MOUNTAIN CREEK CONTRACTORS INC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	NC. AMOUNT BID	EASTERN ST UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
	Unclassified Structure Excavation at Station 15+40.00 -L-	1.0	LS	\$14,200.00	\$14,200.00	\$10,000.00	\$10,000.00	\$23,000.00	\$23,000.00
	Unclassified Structure Excavation at Station 16+01.00 -L-	1.0	LS	\$14,200.00	\$14,200.00	\$10,000.00	\$10,000.00	\$23,000.00	\$23,000.00
80	Class A Concrete (Bridge)	103.0	CY	\$1,100.00	\$113,300.00	\$800.00	\$82,400.00	\$750.00	\$77,250.00
	Bridge Approach Slabs, Station 15+40.00 -L-	1.0	LS	\$20,000.00	\$20,000.00	\$16,000.00	\$16,000.00	\$23,000.00	\$23,000.00
82	Bridge Approach Slabs,Station 16+01.00 -L-	1	LS	\$20,000.00	\$20,000.00	\$16,000.00	\$16,000.00	\$20,000.00	\$20,000.00
83	Reinforcing Steel (Bridge)	19989	LB	\$1.25	\$24,986.25	\$1.00	\$19,989.00	\$1.00	\$19,989.00
84	Spiral Column Reinforcing Steel (Bridge)	1477	LB	\$3.00	\$4,431.00	\$3.00	\$4,431.00	\$1.50	\$2,215.50
85	Pile Driving Equipment Setup forHP 12 x 53 Steel Piles	15.00	Ea	\$1,000.00	\$15,000.00	\$500.00	\$7,500.00	\$800.00	\$12,000.00
86	HP 12 x 53 Steel Piles	270	LF	\$30.00	\$8,100.00	\$60.00	\$16,200.00	\$76.00	\$20,520.00
87	Steel Pile Points	15	Ea	\$300.00	\$4,500.00	\$170.00	\$2,550.00	\$145.00	\$2,175.00
88	Vertical Concrete Barrier	360.50	LF	\$100.00	\$36,050.00	\$110.00	\$39,655.00	\$85.00	\$30,642.50
89	Rip Rap Class II (2'-0'' Thick)	565	Ton	\$38.00	\$21,470.00	\$50.00	\$28,250.00	\$53.00	\$29,945.00
90	Geotextile for Drainage	627.0	SY	\$2.00	\$1,254.00	\$2.00	\$1,254.00	\$3.00	\$1,881.00
91	Elastomeric Bearings	1.0	LS	\$15,000.00	\$15,000.00	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00
92	3'-0'' x 2'-9'' Prestressed Concrete Box Beams	800.0	LF	\$241.00	\$192,800.00	\$238.00	\$190,400.00	\$220.00	\$176,000.00
93	3'-0'' x 2'-0'' Prestressed Concrete Cored Slabs	1000.0	LF	\$155.00	\$155,000.00	\$173.00	\$173,000.00	\$150.00	\$150,000.00
	Generic Structure Item, Asbestos Assessment at Station 15+40.00 -L-	1.0	LS	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
	Generic Structure Item, Asbestos Assessment at Station 16+01.00 -L-	1	LS	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
					\$1,455,438.75		\$1,473,101.75		\$1,479,906.25

Bidder No. 1: DANE CONSTRUCTION, INC. Bidder No. 2: SMITH-ROWE, LLC Bidder No. 3: R.E. BURNS & SONS CO., INC. Bidder No. 4: APPLE TUCK & ASSOCIATES, INC. Bidder No. 5: EASTERN STRUCTURES LLC